Division par 0,1 (A)

Trouvez chaque quotient.

15+0,1 = 11+0,1 =
83+0,1= 68 - 0,1 =
78 +0,1 = 85+0,1=
88 +0,1= 43 +-0,1=
69 +-0,1= 78 +0,1 =
25+0,1= 6+01=

82 +0,1= 46 - 0,1 =
79 0,1 = 68 - 0,1 =
15+0,1= 100+ 0,1 =
33+0,1= 27 +0,1=
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Division par 0,1 (A) Solutions

15+0,1 =150

83 + 0,1 =830

78 +0,1 =780

88 +~ 0,1 =880

69 = 0,1 =690

25+0,1=250

82 + 0,1 =820

79 +0,1 =790

15+ 0,1 =150

33 +0,1=330

Trouvez chaque quotient.

11+0,1 =110

68 + 0,1 = 680

85+ 0,1 =850

43 + 0,1 =430

78 +0,1 =780

6+ 0,1=60

46 - 0,1 =460

68 +~ 0,1 = 680

100+ 0,1=1000

27 +0,1=270
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